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M@BD=12. e 4%
BXBD'+B D' =BB}, wAlEM#M BDLBD. e 54
XENBDNAC=D, Wit BD LFMABC. e 64
HJ BC c*ili ABC, FitABCLBD. e 74

(2) EADIEDx LAC , UADJRBAFF AT EMEMAIRR, WEH, e 8 5

C'y

M4 A(0,-5,0), B(%% ] C(0,5,0). B,(0,0,12) w7

X 4B, =(0,5,12). ssrersnnna]0 43

Wil BBC f— ki ki m=(x,y,2)

M{: E_—.Bi?), i 2;???};:0 ensee]] 4
B ?x+§y-12:"0

4 x=9, AT BBC f— kA m=(9,12,5). seessssessnn]3 4

% AB, 51 BBC Wi*fMA6 ,

12x5+12x5 12410

13+/81+144 +25 B 65
J_

ml.l Sil"l '9 =I COS(E,;} |= inuunuuol4 H

BBl AB, 5T B,BC )3t ik 1210 BPPA



17. C1541)

(1) BUME A, B,C AT RELAET—, =, =R POFHHREE, sernsssnienn] 4
W FRIESR Yy P = P(AB+ ABC + ABC), B1J3 AB,ABC,ABC Hff = seeasssenens 2 4
#( P= P(AB)+ P(ABC)+ P(ABC) , X[ A, B,C ¥hsr. R s

Jii kK P = P(AB) + P(ABC)+ P(ABC)=0.7x0.7+0.3x0.7x0.7+0.7x0.3x0.7=0.784 ~ 0.8

(2) f (D @, BEEBER 20, FHRHEMNERESH08.
Z USRI ARE I BE SR P=0.8%0.8+0.2%0.8x0.8+0.8x02x0.8=0.896 0.9

vesserssrans ‘.o;}
R UR AR, LR R 0.1,
P(X =3)=08x08x0.140.2x0.2x09=0.1 R 11 .

P(X =4)=(0.2%0.8x0.1+0.8x0.2x0.1+0.8x0.8x0.9)x 0.8 + eeeerensenn)3 4
(0.8x0.2x0.9+02x0.8x0.940.2x02x0.1)x0.2~0.5

P(X =5)=1=(0.1+0.5)=04

X (74 5 T 2
X 3 4 5
P(X) 0.1 0.5 0.4
me——F"
FTLLE(X)=3%0.1+4%0.5+5%04=43, svesarannenn ] 4F

18. (174

(1) EMmmEL Y, g1, X 2PN
2 a 2
Milia=2c, b=A3c, oG .
1
Suso =B = Lab= i, il
fc=la=2,b=43, eeenenennen§ 53
xl y2
WO 7L+ = | —
(2) HEE, T8 PN MELMNEEE, Whk—-y-(k+2)=0. e i 1
iﬁM(ﬂ;}’[}:N(xsz’z)
kx—y+2k+1=0
303 x_’+£=i B (4K +3)x> + 8k(2k+1)x +8(2k2 +2k—1)=0,  reeeesenng 4}
4 3

o b B BT S A 4B B e kA2 HeHy B 47 =P EF R ] TS HE A7 £\ K42 |
A A |# N S51LeE B /7 1lE . ) o B ER 22 el 5 L M HEA i E



]

ak* +3
nJ '
» 8(2k* +2k -1)
I T
6(2k+1 =24k
ht)= £k2+3), Hxy,+xy = Y (‘)

KM AN : y= y:2(1+2)$ﬂx=xlﬁﬁlt.

X

M) T3 [ .,_M]

A }i
f Hx, +2 X, +2

)

X3

Y5 (% +2)]= XV + X0, +2(y, + ,)

!
4x=x€[-22} y=2n+ %42 2x, +2)

gept 2 _ AN TRAN+2N+)
x+2 (X, +2)(x,+2)

2y _ XY+ +2(y +y,)
Nl XX, +2(X, +X,)+4

*) =24k +12(2k+1)
# "“Lﬁﬁ 2 = 82K+ 2k — 1)~ 16k(2k + 1) + 4(ak, + 3)
T fsi 1
x+2
19. (17 4+)
W BAa=-1, FS@=lnx, fx)=l-L_x]
X x X

4 fi(x)=0, BBx=1.

% xe(0,1), f'(x) <0, f(x) Rilidik,

% x € (1,4+00), £(x) > 0, £(x) Wi,

BB £ (x) B £(1) =1, @A

X,

(2> 4x=%: xz=]_‘;0-

j_‘j(}<x:<;—ﬂa‘. {)<.1'1<x,<%

0 5 o AR TREE SR x, > %, >0, #R (%) =S ().

M V. A = 3. =/ lr— pife 2> s Hy [ 27 2-b !
CVFIL R S B AL E A E . , h HY EH 25 17\
\ 1 J 7N 1HY J == VA THE . ! VNFIAN X 27 WY

............

(TR R Y T

............

............

llllllllllll

oooooooooooo

llllllllllll

------------

............

oooooooooooo

‘114
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